1 2 3 4 5 7 8
i
] o
[
I
|
I
0
S 5 :
[
2
5 :
-]
3 2 :
_’ L E 7 __ Ju 6 |SCREW CHc M5x18 ALTO
32 |SCREW CHe M5x40-22 A4-70
6 |SCREW CHe M6x20 AGT0
! 6 |SCREW CHc MBx30 A&T0
3b0 - 4_|SCREW CHc Mdx16 ALT0
_ o 4 _|SCREW CHe M6x25 | A4-T0
5 i 6 |SCREW CHc M6x45-24 [ AL70
@ T LAl 64_|SCREW CHc M5x25 [ ALT0
o) 1 | HPC - DKN20-32 BK-BK HPC
= L 4_|ANNEAU LEVAGE REF: 18-030-8 EMILE MAURIN
[ ] ! UH 1_|ORIENTAL MOTOR PK264 ORIENTAL MOTOR
1000 [32] 8 |CARRIAGEHGH20CA ZAC FLI
2 |RAILHGR20R380C FLI
Course Y: + 50 Course X: + 320 ifcle Seamentes Serles 5203-7 2 |RAILHGR 20R 1000C FLI
1_|NUT REF: FSU 16054 FU
1 |BEARING REF: BK10 FLI
1 |BEARING REF: BF10 FUI
| 1 |Linear Stages Series 5101-3 HUBER
a I S DEOT 2003 1_|HUBER INTERFACE HUBER
| 1_|Goniometer 420 HUBER
{50) 2 1 |XY-Stage 5102.20 HUBER
1 |Z-Stages Series 5103-a20-90 HUBER
E-Stages Serles 5103-a20-70 T [Circle Segmenles Series 52032 HUBER
b DB.LT.3004 DBL1.3011 | 1 |HOOD ACIER
DB.L1.3010 1 |BALL SCREW FSU 1605-4 FLI FUI
DB.L13009 | 1 |WEAK LINK 304L
[Goniometer 420 DB.L1.3008 | 4 |SPACER ENAW-2017
— DB.L1.3007 | 1 |BASEY ENAW-2017
9@ o HUBER INTERFACE DB.L1.3006 | 1 |NUTBLOCK ENAW-2017
4 > L g DB.L1.3005 | 1 |XBASE ENAW-2017
I T 2 =L DB.L13004 | 1 |INTERFACE HUBER 420/5103 ENAW-2017
< = & El| & DBO12003 | 1 |WEDGE ENAW-2017
, | 13 <2 DB.L1,3002 | 1 |MOTOR SUPPORT ENAW-2017
__ &______U ={ = 5 o R DB.L1.3001 | 1 [BASE ENAW-2017
P g3 S DB.L1.3008] DRAWING N._| QTY |DESCRIPTION / REMARKS MATERIAL
: _W_ E < ~ 5 [inear Stages Series 5101-3
, : S 76,6573
i IITEM DRAWINGN. QTY DESCRIPTION / REMARKS MATERIAL  W./Kg |
SCALE: 2/18 NAME DATE
Qmm 90 DRN. Heyman 100312
i o CKD.
_ ; DUBBLE APFD.
HAPC - DKN20-32 8K-8K 1SO STANDARD
. COLUMN SUPPORT SAMPLE GEN. SURFACEFINISH : N7
i GEN. LINEAR TOL. D lst2
_ COLUMN SUPPORT SAMPLE  gen ancuLarToL - s05°
EUROPEAN SYNCHROTRON | assy.
RADIATION FACILITY
BP 220 38043 GRENOBLE CEDEX-FRANCE
MOD DATE DRND. APPD, DESCRIPTION >M TEL. 04-76-88-20-00 FAX 04-76-88-20-20 Dm_l\_ WOOO
1 2 3 4 5 7 8  SolidWorks

ESRF



170

Mé

@
i
O
@

25

|10/

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING 1S THE SOLE PROPERTY OF
<INSERT COMPANY NAME HERE>. ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
<INSERT COMPANY NAME HERE> IS
PROHIBITED,

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL+

ANGULAR: MACH:  BEND %
TWO PLACE DECIMAL %
THREE PLACE DECIMAL *

NAME

DATE

DRAWN

<COMPANY NAME>

CHECKED

ENG APPR.

MFG APPR.

MATERIAL

QA

COMMENTS:

NEXT ASSY | USED ON

FINISH

APPLICATION

DO NOT SCALE DRAWING

SIZE | DWG. NO. REV.

A

SCALEN:2 | WEIGHT: SHEET 1 CF 1




